\
P\

b/p JymmmhZmy duhmn]l
yp (Jyndoyun ddimotub)
Jumbmn]mp gmfém?dmh gmldiwmdghmpbmh gyfmhdmh

o :Bdimh weesagmmm nmidwuhdyhmpbmh nmn Impmelunmg
%5;5?5&: n n{Ugnnmpmdnmp Jdyqnmpimh Jdyhdmh btuhdmpmdg

wdmp g6 1 prupbmh Thmpmdmhd pYfmhmingmun nYdyn Jugglummn]m pmfldwhdghmpbmh gfmhdmh

nmidl 77 000°05% Unfrubmlnhmumoygp pudhnl ympdimmpmdin Jdghdmh nynbyd lubymbmdyb ddmlul 0N 00002
mmdir 77 000°00¢ Unfrubmlghmam go¢  mudhgl gmpdimpmdn Jdqhdmh nqnbyd g nafb hudmlul n N1 000°0z-100%
Jmdl 77 000‘0sH Unhrubmlghmum

‘00071 Unhubmbmhn 0469 - 9661 Umyh nmpdimpmdin Jhumt, - dnhdmh nmhmngugumlnafb ‘aggbyd hudmlult n 0

sl 77 000°05z UnfrubmInhmum o6  prudyl pmpdirmpmdn JUnhdmh ngnbdd bkuBymbmdyb unpmdl 77 0000057
qundlt 77 000°00z Unfrubmlqhmum ope  mudgl gmpdimpmdin Jdghdmh lnufb kuBymbmidyb dpmdl 77 000°00S°7

% §'¢ - 0 Umyh qmpdimpmdn {hdmt, - dghdmp gmhmirsambn 3 gmhmngunpomtnue® aqgbyd hupmdl 77

Unnumyph gmp6mhydn]pmh
n nmpdimpmdn Jhdmp

% ST°0 - %1°0 Unhdmh pmhmngunpnminulb n nqybdd hudmlulr n
bJUmpub omhdimpmdin

1 muhhdmhZmy ‘gmhmnpm 3 puhdmph 4, /'] - ¢ dghdmh nmimluambn 1 ypmhmnguynmlnul® ‘aggbyd hupmdl 77

dmph gmphdmnmmn Jhdmh

Umlult a.N7) 000 0ST — 00€

Umpmud Jhumh
amdl 3> 000°000°01 — 00002
pmhgdmwmn 9,17 - 9 0 Unydhudiimnuhug
‘hy¢mud gwhy nmpdmp 3 duhmdmny pudgl Jighdmh gmhmnqupmminuly [ nqnbyg
:Ugnhygmub nmpump hudgnmudmgh nmhmiudb nmhmnpm ng duhmumny Umpmy Yughumh nmhmnaunnunmuiufy dngymyfmn
‘thm¢mdmnmhmy ndpm huRymdmihul @dgguiudmyh Jdmpubmdymy (nmudhngh gpmldwulmhum)Jdmyph pmadmy ghump

ymphdmnmn Jhdmh n Jdmpuubmnuhuin pudgl Juggndpm Imfguindm hnyg ‘thm¢mimnmhmy ndpm dwuZymdmiwl
Udppmudmyh qumpubmiymy (muhgl pmldwlmhum)umoh gmphdmnmmn Jhdmh 1 Jumpuubmnuhun ‘qdmmud dfmp Jhump

njpm 48 —|

nnhamp ympdlimpmug

‘Unhdmh nmimbuamn ‘dghdmh pmhmoquynmlnud dqhdmh nqpbyg

tddnhdmh buhdmpmdg

dgygmplmin ympdehmhdmp hy ddghdmp buhdbmamdm bgplnh i~ R «QF1IE»




